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RMS 64.86 = 0.04629
Integral 9.815e+05

Entries 938841
Mean 50.68 = 0.03525

RMS 34.15 = 0.02492

Integral 9.388e+05
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— MHT: 50-100 GeV
B MI.-IT: 100-150 GeV
a

D Ph iMi tht o drﬂw 150-200 GeV

— MHT: 250+ GeV

Genjets

[T
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2

Entries 346884
Mean 0.3069= 0.0004891
RMS 0.2881= 0.0003459

Integral 3.469e+05

Entries 118625
Mean 0.1917 = 0.0005743
RMS 0.1978 + 0.0004061

Integral 1.186e+05

Entries 32189
Mean 0.1362+ 0.0008291
RMS 0.1487 = 0.0005862

Integral 3.219e+04

Entries 7659
Mean 0.1049: 0.001338

RMS 0.1171+ 0.0009458

Integral 7659

Entries 2692
Mean 0.08286+ 0.001872
RMS 0.09714 = 0.001324

Integral 2692
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— MHT: 50-100 GeV
E— MHT 100-150 GeV
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— MHT: 250+ GeV

Genjets

Entries 346884
Mean 0.03069+ 5.609e-05
RMS 0.03304 = 3.966e-05

Integral 3.469e+05

Entries 118625
Mean 0.0273 = 9.14e-05
RMS 0.03148=+ 6.463e-05

Integral 1.186e+05

Entries 32189
Mean 0.02297 = 0.0001492
RMS 0.02677 = 0.0001055

Integral 3.219e+04

Entries 7659
Mean 0.02026 = 0.0002723

RMS 0.02383= 0.0001925

Integral 7659
A

Entries 2692
Mean 0.01658 = 0.0003804
RMS 0.01974 = 0.000269

Integral 2692
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a

D Ph iMi tht o drﬂw 150-200 GeV
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Entries 315759
Mean 0.3909: 0.0005936
RMS 0.3336 = 0.0004197

Integral 3.158e+05

Entries 51802
Mean 0.2462: 0.001042
RMS 0.2371= 0.0007367

Integral 5.18e+04

Entries 8232
Mean 0.1667 = 0.002015
RMS 0.1828 = 0.001425

Integral 8232

Entries 2301
Mean 0.1239: 0.003105

RMS 0.149 = 0.002196

Integral 2301

Entries 1439
Mean 0.09479 = 0.004543
RMS 0.1723 = 0.003212

Integral 1439
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E— MHT 100-150 GeV

DPthlnBlas d— H]-150200Gev

— MHT: 250+ GeV

Entries 315759

Mean 0.03833= 6.648e-05
C I t RMS 0.03736= 4.701e-05
a O e S Integral 3.158e+05

Entries 51802

Mean 0.03786+ 0.000187

RMS 0.04256 + 0.0001322

Integral 5.18e+04

Entries 8232
Mean 0.03895 + 0.0005651
RMS 0.05127 = 0.0003996

Integral 8232
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‘ Entries 2301
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M ‘ Mean 0.04132: 0.001226

”“ ‘ ||_ J RMS 0.0588 + 0.0008667

Integral 2301
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Mean 0.04322=+ 0.002392

RMS 0.09072= 0.001691

Integral 1439




